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S 5 T 7, 70 2 12777 2 il i
1] 600 HA—— — = 18| 1,974 2,022  2,022| AS
2| 6.00 —— — = 1,134 60 1,194 3,216 AS
3| 6.00 2 — = 647 647| 3,863 AS
1] 600 H—— — = 672 672| 4,535 AS
5| 6.00 —— — = 8 48 56|  4,591] A'S
6| 6.00 +—— — = 501 501 5,002 AS
7| 600 EH—— — = 86 667 753| 5,845 AS
8| 6.00 H—— — = 24 21| 5,809 AS
9 | 650 {220 — =2 651 660 8 1,319 7,188 AS
10| 6.00 feA—200 — = 1,507 1,507| 8,695 AS
1| 600 {200 — = 199 400 599|  9,204] A'S
12| 6.00 et — = 333 333| 9,627 AS
13] 6.00 [l — = 864 14 878| 10,505 A'S
14| 6.00 (220 — - 2 498 498| 11,003 A'S
15| 6.00 HA—ED — - 2 1,243 6 1,249| 12,252 AS
16| 6.00 HeA—=00 — = 208 208| 12,460 A'S
17| 600 [l — = 738 1,065 18 1,821 14,281 A'S
18| 6.00 =0 — - 2 450 4 454| 14,735 AS




S 5 T 7, 78 7 2 12777 2 ol i
19| 6.00 {—200 — = 1,030 13 1,043 15778 A'S
20| 6.00 20 — = 1,175 5 1,180 16,958 A'S
21| 6.00 20 — = 406 2 108| 17,366| A'S
22| 6.00 pq—20 — = 378 78| 17,744 A'S
23| 6.00 pq—2 — = 472 472| 18,216 A'S
24| 6.00 20 — = 564 2 566| 18,782| A'S
25| 6.00 p—20 — 2 182 182| 18,964 A'S
26| 6.00 p—2 — = 634 684| 19,648 AS
27| 6.00 3 — = 71 65 136| 19,784| A's
28| 6.50 {228 — =2 230 37 267| 20,051 AS
20| 6.50 {228 — =2 110 110| 20,161 AS
30| 6.50 p—22d — =2 452 452| 20,613] AS
31| 650 A2l — g: 2 630 3 633 21,206) AS
32| 6.50 pe— — =0 45 16 61| 21,357 AS
33| 6.50 p=—0 — = 304 304| 21,661 AS
M| 650 [ = 1,534 1,534| 23,195| AS
3| 6.50 o0 — = 104 104| 23,209 A'S
36| 6.00 o — = 212 212| 23,511 AS
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37| 6.00 1% e — 8: ?? 114 114| 23,625 AS
38| 6.50 1% o — }: gg 1,178 1,178 24,803 AS
39 | 6.50 1Ii g: gg — }: gg 29 20| 24,825 AS
40 | 6.00 1Ii g: (5)8 — }: gg 284 84| 25,109 A'S
41| 6.00 1Ii g: 88 — }: gg 175 175 25,284| AS
42| 6.50 1% g: ig — g: gg 336 336 25,620 A'S
43| 6.50 1Ii g: 88 — g: gg 21 21| 25,641 AS
1| 650 He—2lo — =2 900 16 916| 26,587| A'S
45 | 6.50 1Ii g: 28 — g: gg 19 19| 26,606 AS
46 | 6.50 1% g: 28 — g: gg 10 10| 26,616 AS
47| 650 HeE — g: 2 355 355| 26,971] A'S
48 | 6.00 1Ii 0.0073.00}  __ }: gg 206 278 484 27,455 A'S
19| 6.00 HHA—— — = 67 67| 27,522| AS
50 | 6.00 f—— — =00 1,252 1,252 28,774 A'S
51| 6.00 f=—— — = 384 115 199 29,273 A'S
52 | 6.00 1Ii o — }: gg 136 90 206 29,499| A'S
53 | 6.00 1Ii o — }: gg 1,018 1,018] 30,517| AS
54 | 5.50 1% - gg — 8: 28 1,090 1,090| 31,607 AS
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5 | 6.50 f—odd — =2 770 770l 32,377 AS
5 | 6.50 f—odd — =2 471 4 475 32,852 A'S
57| 5.50 o] — =2 365 365| 33,217 AS
5 | 6.50 o — - 2 86 54 140 33,357 AS
59 | 6.00 f—20 — = 1,480 32 1,512| 34,869 A'S
60 | 6.00 20 — = 644 644| 35513 AS
61| 6.00 HA—— — = 676 79 755 36,268] A'S
62| 550 pHA—— — > 2 4 4| s6,272] AS
63| 6.00 HA—— — = 6 6| 36,278) AS
61| 6.00 —=20 — - 2 713 713| 36,991] A'S
65| 6.00 —=20 — - 2 699 699| 37,690 A'S
66 | 6.00 =0 — 5 160 160| 37,85 AS
67| 6.00 p— — = 1,020 26 1,046| 38,896 A'S
63 | 6.00 t—20 — = 424 124 39,3200 A'S
69| 6.00 HA—— — - 2 1, 800 110 1,910 41,230 AS
0| 6.00 f—— — = 1,854 1,854 43,084 A'S
1| 600 Ht—— — L. 25 3,819| 1,010 156 5,015| 48,009 A'S
R| — 1.25 : : : ’
72| 6,00 f—— — = 10 25 65| 48,164] A'S




S 5 T 7, 70 7 2 12777 2 ol i
73| 6.00 fEel = 785 785| 48,949 A'S
74| 6.00 |20 — = 1,270 1,270 50,219 A'S
75| 6.00 2 — = 222 4 226| 50,445 A'S
76| 6.00 A2l — = 443 74 517| 50,962] A'S
77| 6.00 f— — = 526 526| 51,488] A'S
78| 6.00 |20 — - - 108 108| 51,596 AS
79| 6.00 |20 — = 407 107| 52,003 A'S
80| 6.00 p—2 — = 99 99| 52,102 A'S
81| 6.00 He—2L0 — = 457 3 160| 52,562| A'S
82| 6.00 HeA—-L2 — =0 385 5 00| 52,952| A'S
83| 6.00 =0 — - - 929 929| 53,881 AS
84| 6.00 2 — = 1,247 1,247| 55,128) A'S
85| 6.00 pATTE = 698 35 733| 55,861] AS
86 | 6.00 (=0 — =0 833 7 810| 56,701 A'S
87| 6.00 AR — =0 2,193 450 7 2,650| 59,351 A'S
88| 5.50 pA—— — 520 43 13| 59,304] A'S
89| 6.00 HHA—— — = 426 103 520| 59,923] A'S
90 | 6.50 pAEEeE - 2 580 15 595| 60,518] A'S
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91 | 6.00 1% g: 28 — }: 28 1,197 1,197| 61,715| AS
92 | 6.00 1% 2 53(.)7036 LUl - }: 28 395 395| 62,110 A'S
93 | 6.00 —20 — = 704 8 12| 62,822 AS
94 | 6.00 1Ii g: 88 — }: 28 209 78 287| 63,109] AS
95 | 6.00 1Ii g: 28 — }: 88 246 246| 63,355 A'S
96 | 6.00 1% (1): ?g — }: 88 21 21| 63,376| AS
97| 6.00 —=20 — > - 163 163| 63,539 AS
98 | 6.00 1Ii R0 — }: 88 1,413 1,413| 64,952] AS
99 | 6.00 HeA—Eo  — g: 2 598 2 600| 65,552 A S
100| 6.00 }Ii g: 88 — }: 88 116 116| 65,668 AS
101| 6.00 1Ii 2'?50 — }: (5)8 110 110| 65,778| AS
102| 6.00 1Ii g: gg — }: 28 260 260| 66,038] AS
103| 6,00 (220 — =2 874 874| 66,912| AS
104| 6.50 1% g: 28 — g: gg 1, 260 4 1,264| 68,176| AS
105 6.50 1% g: 28 — g: gg 444 44| 68,620 A'S
106| 6.50 =20 — =2 368 368| 68,988 A'S
107| 6.50 1Ii g: gg — }: gg 347 347| 69,335] A'S
108| 6.00 feAE =0 920 25 945| 70,280 A'S
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109 6.00 {228 — =2 346 4 350] 70,630] A'S
10| 6.00 {228 — =2 823 94 17| 71,547 AS
11| 6.00 f—=00 — - 2 1,561 3 1,564| 73,111 AS
12| 6.25 [0 — =2 972 11 o83| 74,004 AS
13| 6.00 (=00 — =2 861 7 868| 74,962| A'S
14| 6.00 (=00 — =2 68 68| 75,030 AS
15| 6.00 (=20 — = 177 177| 75,207 A'S
116 6.00 {4228 — = 80 71 151 75,358 AS
17| 6.00 4228 — =2 906 4 910| 76,268 A S
18| 6.00 = g: 28 — }: 28 1,833 4 1,837| 78,105 AS
19| 6.00 = g: gg — }: 28 300 93 393| 78,498 A'S
120 6.00 fRmN }: 5 284 1,270 4 1,558| 80,056] AS
121 6.00 (200 — = 852 10 862| 80,918) A'S
122 6.00 {4228 — =2 647 3 650| 81,568 AS
123| 6,00 (=20 — =2 165 165| 81,733 A'S
124 6.00 0 — = 55 55| 81,788] AS
15| 6.50 =20 — =2 276 400 676| 82,464| A'S
126| 6.50 =20 — =2 154 17 171| 82,635 AS
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127| 6,50 =20 — =2 98 98| 82,733] AS
128 6.00 1% R0 — }: 88 1, 261 1,261] 83,994 AS
129 6.00 1Ii R0 — }: 88 405 405 84,399| A'S
130| 6.00 1Ii g: (5)8 — }: 88 982 75 1,057| 85,456 AS
131| 6.00 1Ii e — }: 88 2, 142 9,142 87,598 A'S
132| 6.00 1% = — }: 88 260 260| 87,858] A'S
133 6.00 1Ii g: gg — g: gg 240 240 88,098] A'S
134 6.00 1Ii g: gg — g: gg 190 190 88,283| AS
135| 6,00 (=00 — = 81 90 171| 88,459 A'S
136| 6.50 }Ii g: 88 — ;: gg 10 10| 88,469 AS
137]  6.50 1Ii g: 88 — g: gg 102 102| 88,571 AS
138 6,50 P20 — > 2 82 32 114| 88,685 AS
139| 6.00 (=00 — = 11 11| 88,696 AS
140| 6.00 1% g: 88 — }: 88 202 202| 88,898] AS
141| 6.00 }Ii g: 88 — }: 88 380 380 89,278] A'S
12| 6.50 (=20 — =2 611 611| 89,889 A'S
143| 6,50 =20 — =2 458 162 920[ 90,809] A'S
144| 6.00 1% g: 28 — }: 28 798 798| 91,607] A'S




S 5 T 7, 170 2 12777 2 ol i
145| 6.50 1% g: 28 — }: gg 141 70 o11| 91,818 A'S

146 6,50 He—llo — g: 2 850 850| 92,668 A S

147| 6.50 1Ii g: (5)8 — }: gg 48 48| 92,716) AS

148| 6.50 1Ii g: 88 — }: gg 1,190 1,190 93,906] AS

149| 6.50 }Ii R0 — }: gg 695 695 94,601 AS

150| 6.50 fmsled — - 2 1,327 328 1,655| 96,256 A'S

151 650 Rl — - 2 1,772 52 1,824| 98,080 AS

152|650 Heeoello — - 2 322 181 503| 98,583] A'S

153 }Ii 13 13| 98,596 As &
H* }Ii -1 -1| 98,595 *ﬁ%ﬁﬁf e
H* 1Ii 1, 256 1,256 99,851 %gﬁ%ﬁﬁmgé
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